C:# Interpreting Histograms Name:

Use the histograms shown to answer each question. Answers
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1) If abag had 69 pieces of chocolatein it, which bar would it be added to? 5.
6.

2) How many bags of trail mix are represented in this histogram?

3) How many bags had between 80 and 100 chocolate pieces?

4) Most bags had between and pieces of chocolate.
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5) How many students sent between 2 and 4 texts?

6) If astudent sent 6 texts which bar would they be added to?

7) Most students sent between and texts.

8) How many students are represented in this histogram?
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C:# Interpreting Histograms

Name: Answer Key

Use the histograms shown to answer each question. Answers
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1) If abag had 69 pieces of chocolatein it, which bar would it be added to? 5 4
6 4
2) How many bags of trail mix are represented in this histogram?
.6 8
3) How many bags had between 80 and 100 chocolate pieces? o 25
4) Most bags had between and pieces of chocolate.
[ L
10 {
9 i
8 i
2] 7 ]
— 6 i
g 5]
5 4
3
2
1
0
0-1 2-3 4-5 6-7 89
texts
5) How many students sent between 2 and 4 texts?
6) If astudent sent 6 texts which bar would they be added to?
7) Most students sent between and texts.
8) How many students are represented in this histogram?
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